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20. "X|FMISeMeHE, M5=0f IE XYM XEEAM(ZLHEH 7|E)

20-1. H|2}M|-ZtH ST E (Eh2] - &, %)
T = 2017 ZM 2018'H Z 4t HuSZ

H| ot A . Zt o oH (A) 3,088,170,510 3,182,751,870 94,581,360

H| I} M 2,493,075,290 2,531,882,660 38,807,370

Zt o 595,095,220 650,869,210 55,773,990

x| Ht Al x| =S oH (B) 17,474,051,000 17,037,294,620 A 436,756,380

H 3 N - Z ®™ g [A/(A+B)] 15.0 15.7 0.7

20-2. 7| 5'E H|opM| - ZH i (EH2]: &, %)

= of _ iglﬂﬂ AL 2018 AL Husz
= % H & = 9 H & = 9 H &

= A 3,088,170,510 100.0 3,182,751,870 100.0 94,581,360 100.0
ol W - =T W 1,218,920,900 39.5 1,274,078,380 40.0 55,157,480 58.3
5 5 3 M 3 o A 39,555,480 1.3 41,236,830 1.3 1,681,350 1.8
mil e 77,896,110 2.5 78,987,790 2.5 1,091,680 1.2
2 3 gl | 144,409,000 47 159,292,430 5.0 14,883,430 15.7
s} 4 =] =] 132,530 0.0 177,310 0.0 44,780 0.0
A 3| = x| 215,672,640 7.0 217,832,480 6.8 2,159,840 2.3
] A 8,764,630 0.3 8,845,960 0.3 81,330 0.1
=2 o ¥ & A 154,732,030 5.0 150,564,940 47 A 4,167,090 A 44
A o = 2~ 7 4 3,102,730 0.1 2,750,730 0.1 A 352,000 A 04
= gl n  E 896,340 0.0 604,950 0.0 A 291,390 A 0.3
2 E 9 X o 7 & 10,219,110 0.3 10,550,700 0.3 331,590 0.4
Inlt st 7| & - - - - - 0.0
= 7} 1,192,437,550 38.6 1,209,775,720 38.0 17,338,170 183
Q) = - - - - - 0.0
7| Et 21,431,460 0.7 28,053,650 0.9 6,622,190 7.0




20-3. M2 HlZHA- 2 HY (EH9] : €, %)
“ o 2017 ZA 201814 ZAl H@SZ
= % H & = 94 H & = 94 H &
- Al 3,088,170,510 100.0 3,182,751,870 100.0 94,581,360 100.0
= ol Al 32,315,450 1.0 33,156,700 1.0 841,250 0.9
i At A 2,815,512,640 91.2 2,906,166,110 91.3 90,653,470 95.8
xt = X} A 240,342,420 7.8 243,429,060 7.6 3,086,640 3.3
20-4. HTHH- 2N T2 SUARE BN (Er9) : 2l)
e 2017'4 ZM 201814 ZA S
X| 8 Kb A SF M of cH s H @b A 1,109,533,760 1,160,656,210 51,122,450
£ 2 , & ® = of cof s v 1 A 73,584,280 76,360,950 2,776,670
=0, HAF 22X H Qa Chr o Cfst Zt o 120,704,860 132,139,560 11,434,700
= 7 o o st oH 3 A 1,192,433,660 1,209,771,370 17,337,710
S m £ @m S A Moo of 3 zZt o 39,671,790 40,740,080 1,068,290
=3 o = o O T AlMo CfS zto 105,018,010 90,844,100 | A 14,173,910
=O{HO|o| Q= OE 7l L HEZAO| CHBH ZHD 19,629,410 24,064,960 4,435,550
2 5 M £ of o ® 7 o 22,627,930 26,407,060 3,779,130
2 e Z X S oo Of o A E P 34,756,970 35,176,340 419,370
X of o o g sk oz o 143,793,150 142,647,970 A 1,145,180
o 2 ¥ 9o £ of ©f & 1 M E 7 8,764,630 8,845,960 81,330
ol Al @ A = 2 = of f st H T A 3,449,120 7,838,210 4,389,090
oS X K o M of of s H 1 A 38,061,480 38,085,020 23,540
St X T ALO| &= O 3 & AL Of Cf & 2t o 4,336,920 6,626,620 2,289,700
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20-5. H|ZpM|- 20 T2 MLy

12

7} AHrD DS

- 408 -

= - o
LIRS 2 U 2H 4 XSHTIE
Ml = 2017'3 A4 2018'F A4t
ot T st 7 1,218,920,900 1,274,078,380

1) XIUXEX|THA| 2 KX TR = 2hof| CHSh B apA| 2 A 1,109,533,760 1,160,656,210
- XREXRCEA S REX| SER =R o F=2IM|- R AHM|-KES KEA| F 0 A 3,000,000 3,000,000

HThA| (K| 2H M 8§77 135, §90, §109D 1) X A A 1,104,172,390 1,154,951,000
- K|YRFK|CHY| 7} 2, S 9 Al SXtaS, HA, Q2 | KSR 2,361,370 2,705,210

Tt T2 I A SO0 AHESH= XhES X0 Tt AFS AN

H| OEA[ (K| 2R §126 1.23)
2) X|YXHX|CHY| S0| ALESt= S &-5335& Xihofl Ciet X AF A \ 116,660 43,390

H| 2pA|
- X|REXCHA S REX SR 2RO 1 O S &-S3&0

AL8St= Mol CHot XHARM| H|ObM| (K[ 2EM[ B §1092)
3) =OIZEH|0f Ci3F B DA AOA M 35,685,700 | 37,017,250
- 022 & FUSSHe FRUSSLRF F54t S0 Tt

KAPM| B IFAMI (K2 M| 2 §900@)
4) AFS £2-31H-H|w- 2 H- SX|- BX|0f Ci#Et H| kA R 73,584,280 | 76,360,950
-E2-5H A A /X 2 X|Off CHEE XHAEM| H| kA

(K| EHH B 81090 13)
5) XI%Z AL Sofl ch3t 2 AoA M 500 | 580

L

- KESA FEAL-EXZEAIE L] £F54te] 32 A
(K| YAM S Ao §852|2Q)




Ll. SSEAM Y otH (TH
. X2 M| K| =4
X|HEM|X|= g2 9l 374 HH
Io '“ IE o= X 'l H o k“ % 2017'ﬂ ?E:'ﬂ' 2018'ﬂ 7E:||A_|'
=oaA A orH st A 39,555,480 41,236,830
1) Mxjf S22 Qlst CHN|F S SOofl CHet H|TtM| NSNS 39,555,480 41,236,830
HXY - X[ EH - *E' S 7|et 271 o 2 Q15 EA
L= OieE AxE-ME-XHsA S 7| A -H E 7
It = LA F S5= 22 S0l CHSHY XS KAEA| H|0kA|
(K| M| S K| oHH §920)
Ct. 05 (EH]
N X| M| X| =M
X|HIM|X|= S22 8l 27 sHY
Io '“ IE o= X 'l H o A‘“ % 2017'ﬂ 7E:|+_|_ 2018'ﬂ 7E:|+_|_
L= st A 77,896,110 78,987,790
1) DS XX CHY|of CH$H H| A A A 38,061,480 38,085,020
- WS KAX[CHAOff CHSE F=0IA[ - XHAEN| - X[ A S M| B DEA| F oA 200,000 200,000
(K| HM| B §77@ 13, §90, §109Q) 135) X AR A 37,861,480 37,885,020
2) AtEisty 9 o 7|20 CHot atM| S s A 39,671,790 40,740,080
-t 9 QI K 7|20 CHSHO] F0IA| - RHAEAM| H| A ZF oA 1,600,000 1,600,000
(R|EEM| EBHITHE §412), §410B), §41() X AF A 38,071,790 39,140,080
3) WHWKTHY Sof CHst 2N E L A 162,840 162,690
- YHNSCHN A HMNFA| O CHSEY 3= TIA| - XHAEA| ZF 0 A 100,000 100,000
H|DFM[(X| 2 M S K[ oHE 843@, §43(3), §44) AF A 62,840 62,690
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2t 231 U B (&)
ALHRIE 2S 2L 2H B et
Al =5 20173 A4t 2018 AL
=2 3 2t ot Al 144,409,000 159,292,430
1) S - HALCHY|Of CHet atM| S| 2 A 120,704,860 132,139,560
- BE A SOl IGRIEHO] isto] FEM- MMM | F 9 A 6,850,000 9,100,000
H|ZEM (K[ M E2| X 2HE §500), §503), §50®), §50®) XN AR A 113,854,860 123,039,560
2) 23}-0= XS 2T M EE X A A 1,076,210 745,810
S HE OBzt e DY olo] WEO| ofsto] MEH 2t
OlEEel URE HEH KA B
(RIS 2RI §520)
3) 2317 S0 Clist oM E| XN AF Al ‘ 22,627,930 26,407,060
TR, of Hat AR XIFE SX|of chstol
RIATAL 21 (K] 2 M S 2R $H §550)
- rEsiNzEY,of G2 23| thatol Wty 2o
(RIS S RIS §550)
32, P NHE S5 5 KA B E R
0. g (&)
N X| 2| K| S H
XYHRIS §S L 2A Y = e 2R SIS
2 PENR=) ot Al 132,530 177,310
1) stx=tA-Z2¢hof| CHst ZHH i AF A 132,530 136,470
- SIUATE HIISHEEAY 52| A8 RS
CiBEO MALA ZHOH (KIS M SR e 547)
2) 18 758 5ol et 2 X oA : 40,840
S UENSEIS e AXE e FEo| oA Kb
AT (IS EHEY 5479140)




Hf. AL =X

XNEMxE S5 X 2H HB

X EMZ =

s 20174 A 20184 A4t
INEII=IN s A 215,672,640 217,832,480

1) 20I17| X AME42Xtof| CHEH H|TpA| ES T 15,160,000 14,290,000
- TR RS BT O 2ot == At0f THTh F0A

(7Sa) HIMEI MR §772)
2) Fofjeloj cHst #H RFEXM | 143,793,150 142,647,970
- BoSE 1~35(A 40 1~35) Hoi2lel sEAtSAto

CHSEO AFSXEM BA(R|LM S MY §170)
- A Z4Z0l(4g) FolRlel S8AE A0l CHSEO] XSXHA

HAZHZ §2)
3) AtzlEX|Helof chet ZH | 11,219,950 11,840,810
- AlB|E X el 42 - HSQ - DXL -SIMEIIXEES z= 0l N 2,371,750 1,800,000

A S AB2XAIYS EX O sl CHY|, sh2skAl XA A 8,848,200 10,040,810

=X 2|0l CHoto] Z=RIM - R AEA B

(XM E XM SHYH §22Q), §220), §220)
4) M Gl ASx|YUS 9T 2 M OAE M 5,042,340 | 4,786,710
- Of2I0| T & RX|EE EX|-2F517| flet FSLH0f THok

R AEM| TR (K] M S 2l A ot 819)
5) L Ol X| Al Mof| Cij3t Z+ed XA A 4,122,430 | 4,376,900
- EQIEXAE WY AESts £F4 T AN 50%2 H

(RISM S HeHY §20 13)
- B2 8 BSL LM HA(K[EAME M THE §20 1)
-SEAE ERE 2 LAZXAZ0| ALt RIS

M AEM 25% Z B (KM S H oY §20 22)
6) HeISZIS 9t ZH A OA M 575,480 2,588,270

- CHSH MAEALS] S| 2 ALY @ RS4H0]| CHSHO] RHAFM|25%
BARISM S §402[3 22)
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X|EMx =

o

o2 U 2A YUY

o

XSMx =

N = 2017'd AL 2018 ZAM
7) 27133 SOl et atMI S| 2 A 34,756,970 35,176,340
5—%% At & CTHH|Off CHSt F0IA| HotA|, £ 40 Cist | = Tl A 50,000 50,000
Z=O| M| - X AFM| SR (K| M| E 2| X SHH §290), §293)) X AF A 246,110 198,780
;w% A} S0| HQ5H AF=Ko| AP AFM| B A| K= KFA| 34,460,860 34,927,560
(K| LM E X2t §29@)
8) QrCHEdo] CHst ZtH X A A \ 385,200 1,284,610
- UCHFERALE A SSFE AUe 2H2 2 FS5H=
S T AM ZHEX M E AT $3100)
- St EX|FERSALS| HFAME|FEOf CHSHO] XHARM| 50%
AHEX LM EH AT 831@)
- O EXFEHIAS| JUi=H ARSE AR FEIO|
CHSFO] XHARM| 50% ZF T (K| 2 M| E 2| A| oHE §32(D)
9) FHHHL-SAZHZO Clig Z4H A OA M 617,120 840,870
- FEICIHCSOZEE HEE HSE FE A 4H
(XM S A oHE §35)
Al HH (B
H 20
ALHXIE B2 U 2H U — — ,E,,;' il —
22 (= | 8,764,630 8,845,960
1) 9|2 Ql Sof st H1|EE1| X AR A 8,764,630 8,845,960
- Q|2 HOIo| AtYE TS0l T XHARN HA|
(K| M| E 2| A ot 38@)




Of. B (&
NSRS B2 L 2H B NN &
M = 20174 ZAk 20184 ZA
S o g 2 A 154,732,030 150,564,940

1) 52010 CH3H apH S X A A 5,097,450 5,549,370
- S AIEO] et R APM EHAI (K] M S 2 K| o §7)
2) ShRsETZALL sABHAIL i HH XA A 4,336,920 6,626,620

- SXIOHOHALY Sof et #S35ts Fs4at SX| ol e

SX[0f| CHoto] X thMl 50% B

AL ME M §13@ 12)
- S LIE H A= el F S5 2R/0ts Y|

A28 EX|t O AlE=0f CHSHO] R LA BA]

(XIS M SR RISHY §13@ 192]23)
3) Solo) Cy3t 2t AN 19,629,410 | 24,064,960
- &5 RE/tSE B34 LM 50% 4 E

(K| M S 3| SHe §112)
4) MA[HX AT S Aokofl Cih XA B abM| XA M 9,355,940 | 10,600,740
- MEREAAESE - EOtE S YORof Tt X AtM| HIbA

(KA §1090) 22)
5) of2foloj CH3H 2o XA M : | 12,320
- 20= O|2re] 2 0{410f CiSHo R LbM| A

(KM Ee A §9@)
6) of ' lof Cis Zte A oA M 77,230 | -

- o010 FOI-RETBE LS TAH 50% LB
(RIS 2R 3 §120)
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I el T (Bl
NYHAIE B2 2 2A WY L b
I 20174 ZA 201841 Z At
+4 9 nE 3t 7 896,340 604,950
1) 7~10915 H| YU S-XSAF SO CHEH RESXHM ZH | KL= XA 896,340 604,950
- HE TS 2G LA bE HE, 7|EF 7~102 |%
HISYE S8A0f tiet 2 SME HE
(KM Ee| X §6703)
7l. = E 9 XY (Er=
N Xl X ="=0H
Rux|E 22 9 2 Yy T SR TS et 20187 TN
2E 9 R Qe st 7 10,219,110 10,550,700
1) st XA SAe| HX|=EE EX|of cHet HEH oA M 6,370 5740
- AR FL BS54 & I7FAEAK TN O FE22 &
2 SSAEEX S MM BHE[SM S XS §77)
2) MoAckx|of Ciat 2+ M oA M 3,549,580 | 3,577,120
-SSHA W 7-HE SToI| M FFA] X LhA 50% & H
(= §7)
3) 37I0|-Y =AAI=AME Sof oigt Z4H XA M 6,663,160 | 6,967,840
- EAAEAEE XNEEHO| DAE = 108 O] Dl’é%”il
RS0 Tl T ehM| 50% ZHHRISM S ATHE §840)
- ZBAME EX|Z XY HO| TAIE EX| XA 50%
HHAGM S §84Q)
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Ef. 27} (
XSRS B2 L 2H Y ASHA &
M = 2017'd A 2018'H ALt
2 I st A 1,192,437,550 1,209,780,070
1) =7}0f CH$t H]atA| A2 A 1,192,433,660 1,209,775,720
- 2710 CHSH Z=0IM|- XHAFA| H|TFA| Z O] A 1,350,000 1,350,000
(XM §77(D 135, §109D) X A A 1,184,638,110 1,201,708,670
- F7 S A4 U E = F O A, SIS A K& XA 6,445,550 6,712,700
QESTHO T2 JAL SH-MO2[0f ARSI XHES X0
Ciot AbSAEA HI kM| (XA §126)
2) 2717} A3 28 228 X Atof CHE b apA| M oA M 3,890 4,350
- 37b7F 14 O| 4 38 = 3380 AHESH= XLt
CHist RYAEA HITEA|
(K| 2N B §109Q)
o}. 7|E} (
-~ X| Bk M| K| 20
XYHRIE §S L 2H Y = O AR TS
7| E} st 7 21,431,460 28,053,650
1) YA A== Sof Cfet HatA| X AF A 3,449,120 7,838,210
- YN SHY - SAMAYARA & EEL7|7H0] 1HE Z0H5HK|
He AES0| CHE HARM| B DM (K| 2hA| 3 81093 32)
2) Chast EA|HZA 7| S0of O3t DpHE3| RHEXEM | 11,137,060 12,816,080
- HXHE XpSA W A YKL XY B2 XS Ko
CHSHO] AHSKEA| H|ObM| (K| 2N ' §126 33)
3) BH M| =0 CHS afMI S| A A 1,660,790 1,932,380
- HNHON 20| 22202 ARSI EES AN CHSH R AL, Z= 0| N 500,000 500,000
FOIM| HA (K[ M E Kot §72Q) A A 1,160,790 1,432,380




XEMx =

EMxE S5 X = HB N = 20174 ZA 201814 ZAH

4) Mgssxe U o220 it 24w A A 405,610 404,270
-dggsRy S MOSERvt HEMYERRE HSotE

TS0 CHOHO] RH&FA| A

(RILMS2XBHY 8870 135, 887Q@ 1)
5) Mo225x% 5o cfst ZH XA A 602,710 605,850
- Mols2sXRRo| YR8 FS4to] CHEt A LA HA

(R LM S| x| ot $880)
6) X+-SAH|ZfO[H| 'S0l CHEt MASH| & A 4,176,170 4,456,860
- AtSAZOIH| 5ol Tt MASH = oA 1,133,700 1,166,700

(R M S M e §922/2) A A 2,434,970 2,628,360

AHE LA 607,500 661,800
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